EEN=E] BRA AR EEE
0309 mHEBIERNERAT $4,000,000
0309 EZ%/\XM%E% $3,000,000
0309 SHEEAE $2,904,384
0309 SHEEAE $1,122,295
0309 B8 2z iz AR AT $1,000,000
0309 MR EEIEAM $535,300
0309 R B $500,000
0309 1009951319 =0 A+ $401,250
0309 1009951317 &= A+ $362,685
0309 10099513470 A\ £ $299,390
0309 1009951348 =0 A+ $290,200
0309 SN $271,575
0309 ttRAEMBRNARAT $235,640
0309 1009951350 =0 A+ $210,150
0309 EDAAN B b HEEE $200,000
0309 1009951316 =0 A+ $115,920
0309 BRI ARAET $104,700
0309 EpENEE] $102,000
0309 FXE[E $102,000
0309 FRIE|E $100,000
0309 EET $60,000
0309 1009951360 /0 A\ £ $58,100
0309 1009951349 =0 A+ $58,040
0309 = EEKEXK $55,000
0309 FHE|AE $30,000
0309 =EEEFESEMATEES $29,000
0309 =55 |8 $28,400
0309 BLLET/ $24,774
0309 1009951320 =0 A+ $20,968
0309 THRBEFHRAT $20,000
0309 eI =] $20,000
0309 WIZA $20,000
0309 1009951351=/m A+ $19,695
0309 SEMBAEERBRERK $18,300
0309 =ENE|E $15,000
0309 1009951318 =0 A+ $14,490
0309 1009951361 =0 A+ $10,020
0309 TEE ITRE EFEF |B $10,000
0309 KSIERE A $10,000
0309 ERREED | & $10,000
0309 TRl | A $10,000




EEN=E] BRA AR EEE
0309 BRRZE (B $10,000
0309 ] $10,000
0309 (BES 4E=] $10,000
0309 Z0AL $6,000
0309 BRE|A $6,000
0309 sRIEH| A $5,000
0309 NG $5,000
0309 g caps E= $5,000
0309 A= $5,000
0309 MR | B $5,000
0309 falom | & $5,000
0309 MEBIE|AE $5,000
0309 =RE A $5,000
0309 RIER|A $5,000
0309 UHERE (KR) ZEEC $4,000
0309 IJL | B $4,000
0309 ZiRE |8 $3,560
0309 EEEEEIE L1990 $3,500
0309 EAMRSRES | B $3,000
0309 ZF | A $3,000
0309 REX|E $3,000
0309 PEMERNBIRAT $2,843
0309 BEr s | B $2,500
0309 TRX - MEFE - BN | A $2,100
0309 R 2 #51e $2,000
0309 ZER|E $2,000
0309 BB $2,000
0309 Fixl| & $2,000
0309 MER| & $2,000
0309 ERR|B $2,000
0309 RERFEERITT|E $1,500
0309 R | B $1,200
0309 BEE | B $1,000
0309 SFF|B $1,000
0309 EEEEE2014%41 $1,000
0309 RRE|B $1,000
0309 =EMAE $1,000
0309 e | B $1,000
0309 BIREZ|E $1,000
0309 FRE|B $1,000
0309 FRIE| B $1,000




EEN=E] BRA AR EEE
0309 HFEN|AE $500
0309 HEEE| B $500
0309 THE A $500
0309 MEIE| B $500
0309 MIELE | A $500
0309 SE5&|B $500
0309 MR | B $500
0309 BEXEA $500
0309 EB?ZEH A $500
0309 SIFZ|E $300
0309 SEMAE $300
0309 EF BB IEE EH R B $269
0309 SEREA $250
0309 RBES|R $250
0309 TR | A $250
0309 RES|A $250
0309 EEE D | B $250
0309 BRAZ I | B $250
0309 HEZ A $250
0309 RTEBE|A $250
0309 FEE|A $250
0309 BRia%E | B $250
0309 BREM| & $250
0309 F g (A $250
0309 R ] $250
0309 SFEE|B $250
0309 =512 8 $250
0309 RAREE|E $250
0309 FHRE (A $250
0309 SHE|E $250
0309 =252 $250
0309 BRE|E $250
0309 = IR A $250
0309 BEZ|E $250
0309 ﬁ_lUEﬂ = $250
0309 =808 A $50




